2013F9A REHRE

S IKHE

IRA CXiES 226,300
BREECEES(REES) 101,000
b=k P 5E £ (EHE) 7,750
LAZDOLDODY—brA (XEETAS IR 3,600
FTHIIHRIXBEIHE (XEETAD IR 6,000
HANAIIBRI IR (XEETADIN) 5,400
HoNH (KEETODIIH) 1,000
& (XEETA2IN) 700
BRFFAK- THIIHRIXBERAX—F (ZELTO0DHH) 12,000
[EROBETIHIZBEEIINMM(ZEETODIIN) 10,500
TOUNETY (XEEETODIIN) 200

IRA&E 374,450

XH ERE 337,314
USSR (13885 15,000
WAERK(25ED) 10,255
RIA FHek 1,730
xR B E 5250
FSATILEERHES) 6,000
ARVIEEESER (T8 5) 6,000
ANURLAILE (1A 9,800
b=k T EHITEZSD 250
fia . _ . . e 7,700
(£2301A - 7R JL20 A - I FF - h—RRAUR IR/ w5 - a2 —2R) ’
£1)—7JLvb(2PR. 6PA) BRI 11,230
TovVEEE 50,085
NILRA~ 11,000
Ean 5,000
mEA 10,000

X&EE 486,614

L RS 2,364,195



O HBRMHRE

ol 2lma ii-ﬁizgi\ﬁ)wm@;‘%(zsaﬁ)-77:3x§-%¥-7$¢&>- 7450
AN (NVEMZ/R 1,000
4| 7aN ISR 1,000
4|7 rISUTR 1,000
4| ¥ PR MRRE D - B 2,000
5] /%L PR 1,050
IARARY> P DEEGBIESD) 2,100
221 RI§ZE (Ein) 3085 504
2 po= PR -SHITH - KERE-LAH- 1067

RIEEE (BRALRH L H- B 8h - RERIER) K30E S '
7|4 E@g;ﬁ#‘ﬁ?ﬁ*d-&%*ﬁﬁ- ) 7014
REE(REREHF-ER- KEHRER) £330
7 <* RIRE 1575
7| 7anN PE- AR08 S) - ATOMFRERZIVHIEGH] 2,100
ol iz gﬂ;c-ﬁﬁﬁwz%#-5&%&-%Lﬂiuéir%iﬁjﬁﬁ-#ﬁﬁ-ﬁiﬁﬁ@ié%ﬁ-ﬁiiiﬁﬁ- 37485
1[5 P MRIRE- RH 5,000
11| " vk M HEH F AT - AR (TR 5) 52,500
12| 7L FRIRE - TUALE - i EF| 3470
13| 7L BB THATARE - FEHLED - REFI(£1085) 3,650
13 | <% ME—BBRE- TSV THRE - LBRBREZTOM (ST - AERE 5,985
13l se s;g;fﬁizﬁ_;ﬂ%?ﬁ?74%71&&-Jm;wﬁﬁwwz)- 3402
13 | <% BEMER 1,000
13| Ly WELER 1,000
13| 7L WAEB(EILX s/d 124F) 4,660
15 | HhOZ REBEZE(2ERS) 1,260
15 | # REBEEWHAD) -REHRTF 6,720
19|53 FISVTR 1,000
19 [ L rISUTR 1,000
20 [ T PE-BAE-ERl FEAHLD (R10E5) 3,150
21 [E2 RUSVOR 1,000
21 | 7L PR THIRE-FEHLD - REF (£1085) 3,650
21 | o mmﬁﬁ-m&ﬂtimﬁﬁfrﬁﬁ-ﬁfrﬁﬁ(ﬁﬁﬂ!ﬁ&&'mﬁﬁw 67463
HMEEERE XRBRTH - BRERERFH '
21 [ 1\ ¥ BT 2,410
21 | Nk RISV R 1,000
21 [ <yt FUSUY R (25E8) 2,000
- F1ft I e Al — 45 7 M . SR « 3 LIlZE X
21 | <z glie;ﬁs?g;ﬁw D A — 1 R BT - FLARRE DI BR F 4T 27510
21 | v P HNIRE(2085) 1,000
22 | & bR = F i 2,100
22 | <% FLARMEREH F57 - AR - MBRE - MR ELFRE 41,936
24 [ /%)L WHE(EILX o/d8 T4 3kg: T yh5E) 5595
25 | #% ISR 1,000
25 | Z)L)L rISUTR 1,000
26 [ ZDF PR-RA-DEECHASD) 1,470
27 | & RUSVOIR 1,000
27 | @R FUSUY R (25E8) 2,000
27 | 1=FEB DEEGHBS) 1575
27 | &% P RERE- MR- REEMERE-EH) X085 5387
28 | LI DEZE (308 5) 551
28 [ /%)L RAEFH 1,470
28 | I5H=— AP ERLAFMH - ERE - MERE - T,5UTHERERE 14910
28 [ <BH PR-ARRE 1,050
28 | L—24 FISVTR 1,000
30 | L PR RERE-DEEQ8BER) - THIREWESD) 5,350
At 362,569



OXEE - REEHE (KBRS

A H CXIEER w5 %5

9 2| S. E# CXiEE 1,000
2 | EDEHER CRER(RBESR) 25,500
2 | ENBRERTEHS CXES 10,000
2 | ENBRERTEH CXEERILEN) 11,000
4 | N. CH CXiES 5,000
6 | aaTEHK xXiEE 8,000
7| M. AR CXiEE 10,000
7]S. otk XES 5,000
10 [ F. S#% XES 10,000
11 [ M. Mk XiES 1,000
11 | F. K CXiES 3,000
11 [ K. YR XiEE 1,000
1| RTEHH% CRER(RBESR) 36,200
12| 0. At XES 3,000
13| Y. M XES 3,000
14 [ I A% XiES 2,000
17 | Sz BEHE CRBES(RBES) 39,300
18 | M. Stk xXiEE 1,000
19 [ Y. K CxXiEE 5,000
20 [ A. YHR XES 20,000
24 [ s. K#% CXES 10,000
24 | T. YH XiES 5,000
25 | T. Y#k CXiES 5,000
26 | M. R¥% xXiEE 10,000
27 | T. M#% CxXiEE 5,000
27 [ N. c#% XES 5,000
27 [ A N%R XES 10,000
30 | M. Y% XiES 2,000
30 [ A. M CXER(FEEN) 10,000
30 | M. A% CXiE®E 20,000
30 [ M. A% IXiEE(Ea~N) 5,000
30 [ N. Y#k FESIRBEHRATRES 5,000
30 | I H#% FEHIRBEHRRIRES 10,000
30 [ M. MEE FESIEBERRCXES 5,000
30 [ M. s# FESIEBRRIXES 10,000
30 [ wW. H# FESIRERETIES 2,000
30 [ T. A% FESIRERETKES 2,000
30 [ s. M#% FESIRBEHRATRES 5,000
30 | &5 FESIEERRIXES 1,300
30 | LAESDLDODY—boA FEIIEEREXIFELTODI 3,600
30 [ FHIIHRIXIEITHRE FEHIRBREXIESETODYH 6,000
30 [ AHMATTHIZIBURY FSIEERRZIFEETOOI 5,400
30 | #ADHH FESIRBREXESTODHH 1,000
30 | & FESIEEREXZIFELTODHH 700
30 fﬁgj;’ﬁfjﬂ?% FSIEERRXZIFEETOOIE 12,000
s | RV BCSIE FSIHERSXELT Oz 10500
30 [ 7OUILETY FE51EERRXFSTOOHH 200
At 366,700




OXESHRE (FrUT4—avT BEIRD)

9| 25|S. Hi F—b T (EHED) 3,250
30 | M. S# b—bk\wT (E51EEHR) 1,500
30 | N. M#% b=k T (ES1EBHRE) 1,500
30 | I K#% F—b T (ES1EEHRR) 1,500

A&t 7,750



S X I ETIERE

CXEER

e
N. Mk [EEES 10,000
N. Mtk GEEEES 8,000
&% 18,000
DX UT—(12K) A= —F—(18K) - NinFl (8K) -59,828
4 AEES

REMHEE: RTBE o5 - /3 F5-kiko - mameazu



